Direct method for the periodic amplification of a soliton in an optical fibre link with loss

This article has been downloaded from IOPscience. Please scroll down to see the full text article.
2003 J. Phys. A: Math. Gen. 36817
(http://iopscience.iop.org/0305-4470/36/3/315)
View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 171.66.16.86
The article was downloaded on 02/06/2010 at 16:25

Please note that terms and conditions apply.

# Direct method for the periodic amplification of a soliton in an optical fibre link with loss 

$\mathbf{L u L i}{ }^{1}$, Wenrui Xue ${ }^{1}$, Zhiyong $\mathbf{X u}{ }^{\mathbf{2}}$, Zhonghao $\mathbf{L i}^{\mathbf{2}}$ and Guosheng Zhou ${ }^{2,3}$<br>${ }^{1}$ Department of Physics and Institute of Theoretical Physics, Shanxi University, Taiyuan 030006, People's Republic of China<br>${ }^{2}$ Department of Electronics and Information Technology, Shanxi University, Taiyuan 030006, People's Republic of China<br>${ }^{3}$ The State Key Subjects of Optics, Shanxi University, Taiyuan 030006, People's Republic of China

Received 11 August 2002, in final form 28 October 2002
Published 7 January 2003
Online at stacks.iop.org/JPhysA/36/817


#### Abstract

A direct approach is applied to the periodic amplification of a soliton in an optical fibre link with loss. In a single soliton case, the adiabatic solution and first-order correction are given for the system. The apparent advantage of this direct approach is that it not only presents the slow evolution of soliton parameters, but also the perturbation-induced radiation, and can be easily used to investigate the system of dispersion management with periodically varying dispersion and other fields.


PACS numbers: $05.45 . \mathrm{Yv}$, 42.81.Dp, 42.65.Tg

## 1. Introduction

The physical situations that give rise to the standard soliton equations tend to be highly idealized. In more practical systems, to the governing equations have to be added some small terms that are called perturbation. Thus perturbation theory is important to treat these nearly integrable systems [1]. Several soliton perturbation theories have been developed to study the influences of small perturbations on integrable equations. In these theories, one of the most systematic perturbation methods in dealing with these problems is based on the inverse scattering transform (IST) which has been well studied [1-4]. Another way to study perturbation is the direct method based upon the theory of linear partial differential equations, and many authors have applied it to various fields [5-8]. In general, the results of these two perturbation theories, based on IST and the direct method, respectively, are consistent. Recently, the direct approach based on a complete set of the squared Jost functions has been proposed and further developed [9-13]. As emphasized by them, the direct method, in general, needs no knowledge of IST, however, results of IST are helpful in finding the complete set of squared Jost functions.

For the periodic amplification of a soliton in an optical fibre link with loss, several methods, such as Lie transformation and the averaging method, have been well adopted by many authors [14-19]. But these papers did not present the explicit expression for the rapidly varying portion of perturbation-induced radiation of the system caused by the periodic amplification. In this paper, we investigate this problem by using the direct method [9, 12, 13], and give the adiabatic solution (slowly varying portion) and first-order correction (rapidly varying portion) for the single soliton case. This method can easily be used to treat the system of dispersion management with periodically varying dispersion [20] and other fields.

This paper is organized as follows. In section 2, the model is reduced as a perturbed nonlinear equation with a small perturbation term. In section 3, the perturbed nonlinear equations are linearized by expanding their solution into the sum of the adiabatic solution and correction terms and at the same time derivative expansion for the space variable is always needed to eliminate the potential secular terms. The key is to find eigenfunctions of a linear operator associated with the linearized equation, namely, the so-called squared Jost functions, and show that those eigenfunctions form an orthogonal complete set. In section 4, the first-order corrections are expanded in terms of the squared Jost functions and the secularity conditions are presented. Then the adiabatic variation of the parameters is determined by the secularity conditions in section 5 . In section 6, the first-order correction is given. Conclusions are summarized in section 7 .

## 2. Reduction of equation

The periodic amplification of a soliton in an optical fibre link with loss can be described by adding a gain term to the usual nonlinear Schrödinger (NLS) equation [14]

$$
\begin{equation*}
\mathrm{i} \frac{\partial u}{\partial Z}+\frac{1}{2} \frac{\partial^{2} u}{\partial T^{2}}+|u|^{2} u=r_{1}[u] \tag{1}
\end{equation*}
$$

where

$$
\begin{equation*}
r_{1}[u]=-\mathrm{i} \frac{1}{2} \Gamma u+\mathrm{i}(\sqrt{G}-1) \sum_{m=1}^{N_{A}} \delta\left(Z-m Z_{A}\right) u \tag{2}
\end{equation*}
$$

$N_{A}$ is the total number of amplifiers, $Z_{A}=z_{A} / z_{0}$ is the period normalized to the dispersion distance $z_{0}$ ( $z_{A}$ is the practical period of the amplifiers in the link), $\Gamma=\gamma z_{0}$ is the normalized loss rate and $\gamma\left(=\omega_{1} \operatorname{Im}\left\{\chi_{1}\right\} / c\right)$ is the loss rate per unit length of the fibre and $G=\mathrm{e}^{\Gamma Z_{A}}$ is the amplifier gain needed to compensate for the fibre loss. The Dirac $\delta$-function $\delta\left(Z-m Z_{A}\right)$ accounts for the lumped nature of the amplification at location $Z=m Z_{A}$. The factor $\sqrt{G}-1$ represents the change in soliton amplitude during amplification.

Because of rapid variation in soliton energy introduced by the lumped-amplification scheme, it is useful to make the transformation

$$
\begin{equation*}
u(Z, T)=\beta(Z) v(Z, T) \tag{3}
\end{equation*}
$$

where $\beta(Z)$ indicates the part of rapid variation and $v(Z, T)$ is a slowly varying function of $Z$. By substituting (3) into equation (1), the slowly varying function $v(Z, T)$ is found to satisfy

$$
\begin{equation*}
\mathrm{i} \frac{\partial v}{\partial Z}+\frac{1}{2} \frac{\partial^{2} v}{\partial T^{2}}+\beta^{2}(Z)|v|^{2} v=0 \tag{4}
\end{equation*}
$$

where the rapid part $\beta(Z)$ is obtained by solving

$$
\begin{equation*}
\frac{\partial \beta}{\partial Z}=-\frac{1}{2} \Gamma \beta+(\sqrt{G}-1) \sum_{m=1}^{N_{A}} \delta\left(Z-m Z_{A}\right) \beta \tag{5}
\end{equation*}
$$

We can easily find that the $\beta(Z)$ is of the expression from equation (5)

$$
\begin{gather*}
\beta(Z)=\beta(0) \sum_{m=0}^{N_{A}-1} \mathrm{e}^{-\frac{1}{2} \Gamma\left(Z-m Z_{A}\right)}\left(H\left(Z-m Z_{A}\right)-H\left(Z-(m+1) Z_{A}\right)\right) \\
+\beta(0) \mathrm{e}^{-\frac{1}{2} \Gamma\left(Z-N_{A} Z_{A}\right)} H\left(Z-N_{A} Z_{A}\right) \tag{6}
\end{gather*}
$$

and is the periodic function with the period $Z_{A}$, where $H(Z)$ is the Heaviside function, that is, $H(Z)=0$ as $Z \leqslant 0$; while $H(Z)=1$ as $Z>0$.

The concept of an average soliton makes use of the fact that $\beta^{2}(Z)$ in equation (4) varies rapidly with a small period $Z_{A} \ll 1$. Since an optical soliton changes only a little in a short distance $Z_{A}$, one can replace $\beta^{2}(Z)$ by its average value over one period $\left\langle\beta^{2}(Z)\right\rangle$,

$$
\begin{equation*}
\left\langle\beta^{2}(Z)\right\rangle=\frac{1}{Z_{A}} \int_{0}^{Z_{A}} \mathrm{~d} Z \beta^{2}(0) \mathrm{e}^{-\Gamma Z}=\beta^{2}(0) \frac{G-1}{G \ln G} \tag{7}
\end{equation*}
$$

Assuming that the input peak power of the average soliton can be chosen such that $\left\langle\beta^{2}(Z)\right\rangle=1$, thus equation (7) leads to

$$
\begin{equation*}
\beta^{2}(0)=\frac{G \ln G}{G-1} \tag{8}
\end{equation*}
$$

and one finds that equation (4) becomes

$$
\begin{equation*}
\mathrm{i} \frac{\partial v}{\partial Z}+\frac{1}{2} \frac{\partial^{2} v}{\partial T^{2}}+|v|^{2} v=r[v] \tag{9}
\end{equation*}
$$

where

$$
\begin{equation*}
r[v]=\left(1-\beta^{2}(Z)\right)|v|^{2} v \tag{10}
\end{equation*}
$$

and when $Z_{A}$ is small,

$$
\begin{equation*}
1-\beta^{2}(Z)=1-\frac{G \ln G}{G-1} \mathrm{e}^{-\Gamma Z} \quad \text { as } \quad 0<Z<Z_{A} \tag{11}
\end{equation*}
$$

is also a small quantity. Thus we transform NLS equation (1) into a perturbed NLS equation with the small perturbation term $r[v]$ given by equation (10).

## 3. Linearization of the NLS equation

We now turn to the perturbed NLS equation (9) by the direct perturbation method. In treating equation (9) by the direct perturbation method, we first introduce a parameter $\epsilon$ to characterize the perturbation term and replace the term $r[v]$ by $\epsilon r[v]$. Thus equation (9) can be rewritten as

$$
\begin{equation*}
\mathrm{i} \frac{\partial v}{\partial Z}+\frac{1}{2} \frac{\partial^{2} v}{\partial T^{2}}+|v|^{2} v=\epsilon r[v] \tag{12}
\end{equation*}
$$

where $r[v]$ is given by (10), which is a small quantity as $Z_{A}$ is small. When $\epsilon=0$, equation (12) is the standard NLS equation and under the vanishing boundary condition the bright soliton solutions can be found by a standard procedure of the IST [4]. The corresponding bright one-soliton solution is of the form

$$
\begin{equation*}
v_{1}(Z, T)=2 v \operatorname{sech} \theta \mathrm{e}^{-\mathrm{i} \varphi} \tag{13}
\end{equation*}
$$

where

$$
\begin{equation*}
\theta=2 v\left(T+2 \mu Z-\tau_{0}\right) \tag{14}
\end{equation*}
$$

$$
\begin{equation*}
\varphi=2 \mu T+2\left(\mu^{2}-v^{2}\right) Z+\varphi_{0} \tag{15}
\end{equation*}
$$

where $v>0, \mu, \tau_{0}$ and $\varphi_{0}$ are the constants.
Now let us consider an approximation solution of equation (12) up to the first-order correction

$$
\begin{equation*}
v=w+\epsilon q \tag{16}
\end{equation*}
$$

with the initial condition

$$
\begin{equation*}
v(Z=0, T)=v_{1}(Z=0, T) . \tag{17}
\end{equation*}
$$

According to the idea of adiabatic solutions, the zeroth-order approximation $w$ is the so-called adiabatic solution which has the same form as the exact solution $v_{1}$ with the parameters $\mu, \nu, \tau_{0}$ and $\varphi_{0}$ modulating on the $Z_{1}=\epsilon Z$ scale $[9,13]$ and $q$ represents the remaining term which is called the first-order correction. Introducing a two-scale expansion $\partial_{Z}=\partial_{Z_{0}}+\epsilon \partial_{Z_{1}}$ in which $Z_{n}=\epsilon^{n} Z, n=0,1$ are treated as two independent variables as usual, and substituting these into the perturbed NLS equation (12) and equating the coefficients of each power of $\epsilon$, we obtain the following approximation equations:

$$
\begin{align*}
& \mathrm{i} \frac{\partial w}{\partial Z}+\frac{1}{2} \frac{\partial^{2} w}{\partial T^{2}}+|w|^{2} w=0  \tag{18}\\
& \mathrm{i} \frac{\partial q}{\partial Z}+\frac{1}{2} \frac{\partial^{2} q}{\partial T^{2}}+2|w|^{2} q+w^{2} \bar{q}=R[w] \tag{19}
\end{align*}
$$

where $R[w] \equiv r[w]-\mathrm{i} \frac{\partial w}{\partial Z_{1}}$ is the effective source with the expression, in the case of a single soliton
$R[w]=\left(1-\beta^{2}(Z)\right) 8 \nu^{3} \operatorname{sech}^{3} \theta \mathrm{e}^{-\mathrm{i} \varphi}-\left(\mathrm{i} 2 \nu^{\prime}-\mathrm{i} 2 \nu \theta^{\prime} \tanh \theta+2 v \varphi^{\prime}\right) \operatorname{sech} \theta \mathrm{e}^{-\mathrm{i} \varphi}$
and

$$
\begin{align*}
& \theta^{\prime}=2 \nu^{\prime}\left(T+2 \mu Z-\tau_{0}\right)+2 v\left(2 \mu^{\prime} Z-\tau_{0}^{\prime}\right)  \tag{21}\\
& \varphi^{\prime}=2 \mu^{\prime} T+4\left(\mu \mu^{\prime}-v \nu^{\prime}\right) Z+\varphi_{0}^{\prime} \tag{22}
\end{align*}
$$

and we do not distinguish $Z_{0}$ and $Z$, and '/' denotes the derivative with respect to $Z_{1}$. Then the first-order approximation linearized NLS equation (19) and its complex conjugate, together with the initial condition $q(Z=0, T)=0$, can be reduced into the following form:

$$
\begin{equation*}
\left(\mathrm{i} \partial_{Z}-\mathbf{L}(w)\right) \mathbf{Q}=\mathbf{R} \tag{23}
\end{equation*}
$$

where the operator $\mathrm{i}_{Z}-\mathbf{L}(w)$ is the so-called linearized operator

$$
\mathbf{L}(w)=\left(\begin{array}{cc}
-\frac{1}{2} \partial_{T T}-2|w|^{2} & -w^{2}  \tag{24}\\
\bar{w}^{2} & \frac{1}{2} \partial_{T T}+2|w|^{2}
\end{array}\right)
$$

and

$$
\begin{equation*}
\mathbf{Q}=\binom{q}{\bar{q}} \quad \mathbf{R}=\binom{R[w]}{-\overline{R[w]}} \tag{25}
\end{equation*}
$$

In a single soliton case, (24) reduces to

$$
\mathbf{L}(w)=\left(\begin{array}{cc}
-\frac{1}{2} \partial_{T T}-8 v^{2} \operatorname{sech}^{2} \theta & -4 v^{2} \operatorname{sech}^{2} \theta \mathrm{e}^{-\mathrm{i} 2 \varphi}  \tag{26}\\
4 v^{2} \operatorname{sech}^{2} \theta \mathrm{e}^{\mathrm{i} 2 \varphi} & \frac{1}{2} \partial_{T T}+8 v^{2} \operatorname{sech}^{2} \theta
\end{array}\right)
$$

and $\mathbf{R}$ is determined by (20).

For the linearized operator $\mathrm{i} \partial_{Z}-\mathbf{L}(w)$, we can verify that $\Psi(Z, T, \lambda), \Psi\left(Z, T, \lambda_{1}\right)$, $\dot{\Psi}\left(Z, T, \lambda_{1}\right), \tilde{\Psi}(Z, T, \lambda), \tilde{\Psi}\left(T, \bar{\lambda}_{1}\right)$ and $\tilde{\Psi}\left(T, \bar{\lambda}_{1}\right)$ satisfy the eigen-equations in the following [9] (here $\lambda$ is continuous spectral which is the real number and $\lambda_{1}$ is discrete spectral which is the complex number $\lambda_{1}=\mu+\mathrm{i} \nu$ ):

$$
\begin{align*}
& \left(\mathrm{i} \partial_{Z}-\mathbf{L}(w)\right) \Psi(Z, T, \lambda)=2 \lambda^{2} \Psi(Z, T, \lambda)  \tag{27}\\
& \left(\mathrm{i} \partial_{Z}-\mathbf{L}(w)\right) \Psi\left(Z, T, \lambda_{1}\right)=2 \lambda_{1}^{2} \Psi\left(Z, T, \lambda_{1}\right)  \tag{28}\\
& \left(\mathrm{i} \partial_{Z}-\mathbf{L}(w)\right) \dot{\Psi}\left(Z, T, \lambda_{1}\right)=4 \lambda_{1} \Psi\left(Z, T, \lambda_{1}\right)+2 \lambda_{1}^{2} \dot{\Psi}\left(Z, T, \lambda_{1}\right)  \tag{29}\\
& \left(\mathrm{i} \partial_{Z}-\mathbf{L}(w)\right) \widetilde{\Psi}(Z, T, \lambda)=-2 \lambda^{2} \widetilde{\Psi}(Z, T, \lambda)  \tag{30}\\
& \left(\mathrm{i} \partial_{Z}-\mathbf{L}(w)\right) \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right)=-2 \bar{\lambda}_{1}^{2} \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right)  \tag{31}\\
& \left(\mathrm{i} \partial_{Z}-\mathbf{L}(w)\right) \tilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right)=-4 \bar{\lambda}_{1} \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right)-2 \bar{\lambda}_{1}^{2} \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right) \tag{32}
\end{align*}
$$

and form a complete set of the linearized operator (26), namely, the expression of unity

$$
\begin{align*}
\delta\left(T-T^{\prime}\right)= & -\frac{1}{\pi} \int_{-\infty}^{+\infty} \mathrm{d} \lambda\left\{\frac{\left(\lambda-\bar{\lambda}_{1}\right)^{2}}{\left(\lambda-\lambda_{1}\right)^{2}} \Psi(Z, T, \lambda) \Psi^{A}\left(Z, T^{\prime}, \lambda\right)\right. \\
& \left.-\frac{\left(\lambda-\lambda_{1}\right)^{2}}{\left(\lambda-\bar{\lambda}_{1}\right)^{2}} \widetilde{\Psi}(Z, T, \lambda) \widetilde{\Psi}^{A}\left(Z, T^{\prime}, \lambda\right)\right\}-8 \nu \Psi\left(Z, T, \lambda_{1}\right) \Psi^{A}\left(Z, T^{\prime}, \lambda_{1}\right) \\
& -i 8 \nu^{2} \dot{\Psi}\left(Z, T, \lambda_{1}\right) \Psi^{A}\left(Z, T^{\prime}, \lambda_{1}\right)-\mathrm{i} 8 \nu^{2} \Psi\left(Z, T, \lambda_{1}\right) \dot{\Psi}^{A}\left(Z, T^{\prime}, \lambda_{1}\right) \\
& +8 \nu \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right) \widetilde{\Psi}^{A}\left(Z, T^{\prime}, \bar{\lambda}_{1}\right)-\mathrm{i} 8 \nu^{2} \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right) \widetilde{\Psi}^{A}\left(Z, T^{\prime}, \bar{\lambda}_{1}\right) \\
& -\mathrm{i} 8 v^{2} \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right) \widetilde{\Psi}^{A}\left(Z, T^{\prime}, \bar{\lambda}_{1}\right) \tag{33}
\end{align*}
$$

and have all the non-zero inner products, namely orthogonal relations

$$
\begin{align*}
& \left\langle\Psi\left(\lambda^{\prime}\right) \mid \Psi(\lambda)\right\rangle=-\pi \frac{\left(\lambda-\lambda_{1}\right)^{2}}{\left(\lambda-\bar{\lambda}_{1}\right)^{2}} \delta\left(\lambda-\lambda^{\prime}\right)  \tag{34}\\
& \left\langle\dot{\Psi}\left(\lambda_{1}\right) \mid \Psi\left(\lambda_{1}\right)\right\rangle=\left\langle\Psi\left(\lambda_{1}\right) \mid \dot{\Psi}\left(\lambda_{1}\right)\right\rangle=\mathrm{i} \frac{1}{8 v^{2}}  \tag{35}\\
& \left\langle\dot{\Psi}\left(\lambda_{1}\right) \mid \dot{\Psi}\left(\lambda_{1}\right)\right\rangle=-\frac{1}{8 v^{3}}  \tag{36}\\
& \left\langle\widetilde{\Psi}\left(\lambda^{\prime}\right) \mid \widetilde{\Psi}(\lambda)\right\rangle=\pi \frac{\left(\lambda-\bar{\lambda}_{1}\right)^{2}}{\left(\lambda-\lambda_{1}\right)^{2}} \delta\left(\lambda-\lambda^{\prime}\right)  \tag{37}\\
& \left\langle\dot{\widetilde{\Psi}}\left(\bar{\lambda}_{1}\right) \mid \widetilde{\Psi}\left(\bar{\lambda}_{1}\right)\right\rangle=\left\langle\widetilde{\Psi}\left(\bar{\lambda}_{1}\right) \mid \dot{\widetilde{\Psi}}\left(\bar{\lambda}_{1}\right)\right\rangle=\mathrm{i} \frac{1}{8 v^{2}}  \tag{38}\\
& \left\langle\tilde{\Psi}\left(\bar{\lambda}_{1}\right) \mid \dot{\widetilde{\Psi}}^{( }\left(\bar{\lambda}_{1}\right)\right\rangle=\frac{1}{8 v^{3}} \tag{39}
\end{align*}
$$

where $\Psi(Z, T, \lambda), \widetilde{\Psi}(Z, T, \lambda)$ are called the squared Jost functions associated with the Jost functions [9], and $\Psi(Z, T, \lambda), \Psi\left(Z, T, \lambda_{1}\right), \dot{\Psi}\left(Z, T, \lambda_{1}\right), \widetilde{\Psi}(Z, T, \lambda), \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right)$ and $\widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right)$ are of the following expressions [4], respectively:

$$
\begin{equation*}
\Psi(Z, T, \lambda)=\binom{-\frac{\nu^{2}}{(\lambda-\mu+\mathrm{i} \nu)^{2}} \operatorname{sech}^{2} \theta \mathrm{e}^{-2 \mathrm{i} \varphi} \mathrm{e}^{2 \mathrm{i} \lambda T}}{-\frac{1}{(\lambda-\mu+\mathrm{i} \nu)^{2}}(\lambda-\mu+\mathrm{i} \nu \tanh \theta)^{2} \mathrm{e}^{2 \mathrm{i} \lambda T}} \tag{40}
\end{equation*}
$$

$\Psi\left(Z, T, \lambda_{1}\right)=\binom{\frac{1}{4} \operatorname{sech}^{2} \theta \mathrm{e}^{-2 \mathrm{i} \varphi} \mathrm{e}^{2 \mathrm{i} \lambda_{1} T}}{-\frac{1}{4}(1+\tanh \theta)^{2} \mathrm{e}^{2 \mathrm{i} \lambda_{1} T}}$
$\dot{\Psi}\left(Z, T, \lambda_{1}\right)=\binom{\mathrm{i} \frac{1}{4}\left(\frac{1}{v}+2 T\right) \operatorname{sech}^{2} \theta \mathrm{e}^{-2 \mathrm{i} \varphi} \mathrm{e}^{2 \mathrm{i} \lambda_{1} T}}{-\mathrm{i} \frac{1}{4}\left(\frac{1}{\nu}+2 T\right)(1+\tanh \theta)^{2} \mathrm{e}^{2 \mathrm{i} \lambda_{1} T}+\mathrm{i} \frac{1}{2 v}(1+\tanh \theta) \mathrm{e}^{2 \mathrm{i} \lambda_{1} T}}$
$\widetilde{\Psi}(Z, T, \lambda)=\binom{\frac{1}{(\lambda-\mu-\mathrm{i} \nu)^{2}}(\lambda-\mu-\mathrm{i} \nu \tanh \theta)^{2} \mathrm{e}^{-2 \mathrm{i} \lambda T}}{\frac{\nu^{2}}{(\lambda-\mu-\mathrm{i} \nu)^{2}} \operatorname{sech}^{2} \theta \mathrm{e}^{2 \mathrm{i} \varphi} \mathrm{e}^{-2 \mathrm{i} \lambda T}}$
$\widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right)=\binom{\frac{1}{4}(1+\tanh \theta)^{2} \mathrm{e}^{-2 \mathrm{i} \overline{\mathrm{X}}_{1} T}}{-\frac{1}{4} \operatorname{sech}^{2} \theta \mathrm{e}^{2 \mathrm{i} \varphi} \mathrm{e}^{-2 \mathrm{i} \bar{\lambda}_{1} T}}$
$\tilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right)=\binom{-\mathrm{i} \frac{1}{4}\left(\frac{1}{v}+2 T\right)(1+\tanh \theta)^{2} \mathrm{e}^{-2 \mathrm{i} \bar{\lambda}_{1} T}+\frac{\mathrm{i}}{2 v}(1+\tanh \theta) \mathrm{e}^{-2 \mathrm{i} \overline{\bar{\lambda}}_{1} T}}{\mathrm{i} \frac{1}{4}\left(\frac{1}{v}+2 T\right) \operatorname{sech}^{2} \theta \mathrm{e}^{2 \mathrm{i} \varphi} \mathrm{e}^{-2 \mathrm{i} \bar{\lambda}_{1} T}}$
and here we have used notation

$$
\begin{equation*}
\dot{\Psi}\left(Z, T, \lambda_{1}\right)=\left.\frac{\mathrm{d} \Psi(Z, T, \lambda)}{\mathrm{d} \lambda}\right|_{\lambda=\lambda_{1}} \tag{46}
\end{equation*}
$$

and the corresponding inner product

$$
\begin{equation*}
\left\langle\Psi\left(\lambda^{\prime}\right) \mid \Psi(\lambda)\right\rangle=\int_{-\infty}^{+\infty} \mathrm{d} T \Psi^{A}\left(Z, T, \lambda^{\prime}\right) \Psi(Z, T, \lambda) \tag{47}
\end{equation*}
$$

where the adjoint function related to $\Psi^{A}(Z, T, \lambda)$ and $\widetilde{\Psi}^{A}(Z, T, \lambda)$ are given by

$$
\begin{align*}
& \Psi^{A}(Z, T, \lambda)=\left(-\frac{\nu^{2}}{(\lambda-\mu+\mathrm{i} \nu)^{2}} \operatorname{sech}^{2} \theta \mathrm{e}^{2 \mathrm{i} \varphi} \mathrm{e}^{-2 \mathrm{i} \lambda T}, \quad \frac{1}{(\lambda-\mu+\mathrm{i} \nu)^{2}}(\lambda-\mu-\mathrm{i} \nu \tanh \theta)^{2} \mathrm{e}^{-2 \mathrm{i} \lambda T}\right)  \tag{48}\\
& \widetilde{\Psi}^{A}(Z, T, \lambda)=\left(\frac{1}{(\lambda-\mu-\mathrm{i} \nu)^{2}}(\lambda-\mu+\mathrm{i} \nu \tanh \theta)^{2} \mathrm{e}^{\mathrm{i} 2 \lambda T}, \quad-\frac{\nu^{2}}{(\lambda-\mu-\mathrm{i} \nu)^{2}} \operatorname{sech}^{2} \theta \mathrm{e}^{-\mathrm{i} 2 \varphi} \mathrm{e}^{\mathrm{i} 2 \lambda T}\right) . \tag{49}
\end{align*}
$$

## 4. Expansion in terms of the squared Jost functions

From the expression of unity (33), we can express the first-order approximation solution $\mathbf{Q}(Z, T)$ as
$\mathbf{Q}(Z, T)=\frac{1}{\pi} \int_{-\infty}^{+\infty} \mathrm{d} \lambda\{f(Z, \lambda) \Psi(Z, T, \lambda)+\widetilde{f}(Z, \lambda) \widetilde{\Psi}(Z, T, \lambda)\}+f_{1}(Z) \Psi\left(Z, T, \lambda_{1}\right)$

$$
\begin{equation*}
+g_{1}(Z) \dot{\Psi}\left(Z, T, \lambda_{1}\right)+\tilde{f}_{1}(Z) \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right)+\widetilde{g}_{1}(Z) \dot{\widetilde{\Psi}}\left(Z, T, \bar{\lambda}_{1}\right) \tag{50}
\end{equation*}
$$

provided that $\mathbf{Q}(Z, T)$ is continuous with respect to $T$, and $f(Z, \lambda), \tilde{f}(Z, \lambda), f_{1}(Z), \tilde{f}_{1}(Z)$, $g_{1}(Z)$ and $\tilde{g}_{1}(Z)$ with the relations

$$
\begin{equation*}
\tilde{f}(Z, \lambda)=-\overline{f(Z, \lambda)} \quad \tilde{f}_{1}(Z)=-\overline{f_{1}(Z)} \quad \tilde{g}_{1}(Z)=-\overline{g_{1}(Z)} \tag{51}
\end{equation*}
$$

which are determined later. Acting the operator $\left(\mathrm{i} \partial_{Z}-\mathbf{L}(w)\right)$ on both sides of equation (50), one can find the following form with the aid of equations (27)-(32) and using equation (23)

$$
\begin{align*}
\mathbf{R}=\frac{1}{\pi} \int_{-\infty}^{+\infty} & \mathrm{d} \lambda\left\{\left(\mathrm{i} f_{Z}+2 \lambda^{2} f\right) \Psi(Z, T, \lambda)+\left(\mathrm{i} \tilde{f}_{Z}-2 \lambda^{2} \tilde{f}\right) \widetilde{\Psi}(Z, T, \lambda)\right\} \\
& +\left(\mathrm{i} f_{1, Z}+2 \lambda_{1}^{2} f_{1}+4 \lambda_{1} g_{1}\right) \Psi\left(Z, T, \lambda_{1}\right)+\left(\mathrm{i} g_{1, Z}+2 \lambda_{1}^{2} g_{1}\right) \dot{\Psi}\left(Z, T, \lambda_{1}\right) \\
& +\left(\mathrm{i} \tilde{\mathrm{f}}_{1, Z}-2 \bar{\lambda}_{1}^{2} \tilde{f}_{1}-4 \bar{\lambda}_{1} \widetilde{g}_{1}\right) \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right)+\left(\mathrm{i} \widetilde{g}_{1, Z}-2 \bar{\lambda}_{1}^{2} \widetilde{g}_{1}\right) \widetilde{\Psi}\left(Z, T, \bar{\lambda}_{1}\right) . \tag{52}
\end{align*}
$$

Multiplying equation (52) by $\Psi^{A}\left(Z, T, \lambda_{1}\right), \dot{\Psi}^{A}\left(Z, T, \lambda_{1}\right)$ and $\Psi^{A}(Z, T, \lambda)$ successively, and integrating over $T$, we obtain the following ordinary differential equations with the aid of the orthogonal relations (34)-(39):

$$
\begin{align*}
& \left(\mathrm{i} g_{1, Z}+2 \lambda_{1}^{2} g_{1}\right) \mathrm{i} \frac{1}{8 v^{2}}=\left\langle\Psi\left(\lambda_{1}\right) \mid \mathbf{R}\right\rangle  \tag{53}\\
& \left(\mathrm{i} f_{1, Z}+2 \lambda_{1}^{2} f_{1}+4 \lambda_{1} g_{1}\right) \mathrm{i} \frac{1}{8 v^{2}}-\left(\mathrm{i} g_{1, Z}+2 \lambda_{1}^{2} g_{1}\right) \frac{1}{8 v^{3}}=\left\langle\dot{\Psi}\left(\lambda_{1}\right) \mid \mathbf{R}\right\rangle  \tag{54}\\
& -\left(\mathrm{i} f_{Z}+2 \lambda^{2} f\right) \frac{\left(\lambda-\lambda_{1}\right)^{2}}{\left(\lambda-\bar{\lambda}_{1}\right)^{2}}=\langle\Psi(\lambda) \mid \mathbf{R}\rangle \tag{55}
\end{align*}
$$

Similarly, multiplying equation (52) by $\widetilde{\Psi}^{A}\left(Z, T, \bar{\lambda}_{1}\right), \widetilde{\Psi}^{A}\left(Z, T, \bar{\lambda}_{1}\right)$ and $\widetilde{\Psi}^{A}(Z, T, \lambda)$ successively, and integrating over $T$, we obtain the following ordinary differential equations

$$
\begin{align*}
& \left(\mathrm{i} \tilde{g}_{1, Z}-2 \bar{\lambda}_{1}^{2} \tilde{g}_{1}\right) \mathrm{i} \frac{1}{8 v^{2}}=\left\langle\widetilde{\Psi}\left(\bar{\lambda}_{1}\right) \mid \mathbf{R}\right\rangle  \tag{56}\\
& \left(\mathrm{i} \tilde{f}_{1, Z}-2 \bar{\lambda}_{1}^{2} \tilde{f}_{1}-4 \bar{\lambda}_{1} \tilde{g}_{1}\right) \mathrm{i} \frac{1}{8 v^{2}}+\left(\mathrm{i} \widetilde{g}_{1, Z}-2 \bar{\lambda}_{1}^{2} \tilde{g}_{1}\right) \frac{1}{8 v^{3}}=\left\langle\dot{\Psi}\left(\bar{\lambda}_{1}\right) \mid \mathbf{R}\right\rangle  \tag{57}\\
& \left(\mathrm{i} \tilde{f}_{Z}-2 \lambda^{2} \tilde{f}\right) \frac{\left(\lambda-\bar{\lambda}_{1}\right)^{2}}{\left(\lambda-\lambda_{1}\right)^{2}}=\langle\widetilde{\Psi}(\lambda) \mid \mathbf{R}\rangle . \tag{58}
\end{align*}
$$

For ordinary differential equations (53), (54), (56) and (57), although the initial values of $g_{1}, f_{1}, \widetilde{g}_{1}$ and $\widetilde{f}_{1}$ vanish, their values may go to infinity if the right-hand sides of equations (53), (54), (56) and (57) are non-vanishing. So we must demand the right-hand sides of these equations be vanishing, namely, requiring secularity conditions

$$
\begin{align*}
\left\langle\Psi\left(\lambda_{1}\right) \mid \mathbf{R}\right\rangle & =0  \tag{59}\\
\left\langle\dot{\Psi}\left(\lambda_{1}\right) \mid \mathbf{R}\right\rangle & =0  \tag{60}\\
\left\langle\widetilde{\Psi}\left(\bar{\lambda}_{1}\right) \mid \mathbf{R}\right\rangle & =0  \tag{61}\\
\left\langle\tilde{\Psi}\left(\bar{\lambda}_{1}\right) \mid \mathbf{R}\right\rangle & =0 \tag{62}
\end{align*}
$$

which ensure $g_{1}, f_{1}, \tilde{g}_{1}$ and $\tilde{f}_{1}$ are finite, where (59) and (60) are complex conjugates of (61) and (62). By means of them, the adiabatic solution can be determined. After the adiabatic solution is determined, the right-hand sides of (55) and (58) are known, thus $f$ and $\tilde{f}$ can be determined.

## 5. The adiabatic variation of the parameters

In this section, we will discuss the adiabatic variation of the parameters $\mu, \nu, \tau$ and $\kappa$ by making use of the secularity conditions (59) and (60). First, by (20)-(22) with the aid of (14) and (15), we have
$R[w]=\left(1-\beta^{2}(Z)\right) 8 \nu^{3} \operatorname{sech}^{3} \theta \mathrm{e}^{-\mathrm{i} \varphi}-\left(-\mathrm{i} 2 \nu^{\prime} \theta \tanh \theta+A \tanh \theta+2 \mu^{\prime} \theta+B\right) \operatorname{sech} \theta \mathrm{e}^{-\mathrm{i} \varphi}$
where

$$
\begin{align*}
& A=-\mathrm{i} 4 v^{2}\left(2 \mu^{\prime} Z-\tau_{0}^{\prime}\right)  \tag{64}\\
& B=-8 v^{2} \nu^{\prime} Z+4 v \mu^{\prime} \tau+2 v \varphi_{0}^{\prime}+\mathrm{i} 2 v^{\prime} \tag{65}
\end{align*}
$$

are independent of $T$. Thus from the secularity condition (59), we find by directly calculating

$$
\begin{equation*}
\left\langle\Psi\left(\lambda_{1}\right) \mid \mathbf{R}\right\rangle=\int_{-\infty}^{+\infty} \Psi^{A}\left(Z, T, \lambda_{1}\right) \mathbf{R} \mathrm{d} T=-\frac{1}{2 v} \mathrm{e}^{C}\left(\mu^{\prime}+\mathrm{i} \nu^{\prime}\right)=0 \tag{66}
\end{equation*}
$$

here we have used

$$
\begin{equation*}
-2 \mathrm{i} \lambda_{1} T+\mathrm{i} \varphi=\theta+C \tag{67}
\end{equation*}
$$

and

$$
\begin{equation*}
C=2 \mathrm{i}(\mu+\mathrm{i} \nu)^{2} Z+2 \nu \tau_{0}+\mathrm{i} \varphi_{0} \tag{68}
\end{equation*}
$$

which is independent of $T$. Hence the secularity condition (59) yields

$$
\begin{equation*}
\mu=\mu_{0} \quad \nu=v_{0} \tag{69}
\end{equation*}
$$

where $\mu_{0}$ and $\nu_{0}$ are constants. This means there is no adiabatic variation of the parameters $v$ and $\mu$.

We now turn to the second secularity condition (60). By calculating directly and noting (67)-(69), we have

$$
\begin{equation*}
\left\langle\dot{\Psi}\left(\lambda_{1}\right) \mid \mathbf{R}\right\rangle=\int_{-\infty}^{+\infty} \dot{\Psi}^{A}\left(Z, T, \lambda_{1}\right) \mathbf{R} \mathrm{d} T=\frac{1}{2 v} \mathrm{e}^{C}\left(\mathrm{i} 4 v_{0}^{2}\left(1-\beta^{2}(Z)\right)-\mathrm{i} \varphi_{0}^{\prime}-2 v_{0} \tau_{0}^{\prime}\right)=0 \tag{70}
\end{equation*}
$$

where we used

$$
\begin{equation*}
\frac{1}{v}-2 T=-\frac{1}{v} \theta+D \tag{71}
\end{equation*}
$$

and

$$
\begin{equation*}
D=\frac{1}{v}+2\left(2 \mu Z-\tau_{0}\right) \tag{72}
\end{equation*}
$$

which is independent of $T$. Hence the secularity condition (60) yields

$$
\begin{equation*}
\tau_{0}=\tau_{01} \tag{73}
\end{equation*}
$$

$$
\begin{gather*}
\varphi_{0}(Z)=4 v_{0}^{2} \sum_{m=0}^{N_{A}-1}\left(\left(Z-m Z_{A}\right)-\beta^{2}(0) \frac{1}{\Gamma}\left(1-\mathrm{e}^{-\Gamma\left(Z-m Z_{A}\right)}\right)\right)\left(H\left(Z-m Z_{A}\right)\right. \\
\left.-H\left(Z-(m+1) Z_{A}\right)\right)+4 v_{0}^{2}\left(\left(Z-N_{A} Z_{A}\right)\right. \\
\left.\quad-\beta^{2}(0) \frac{1}{\Gamma}\left(1-\mathrm{e}^{-\Gamma\left(Z-N_{A} Z_{A}\right)}\right)\right) H\left(Z-N_{A} Z_{A}\right)+H(Z) \varphi_{01} \tag{74}
\end{gather*}
$$

where $\tau_{01}$ and $\varphi_{01}$ are constants. Thus we can obtain the expression for the adiabatic solution from (13)

$$
\begin{equation*}
w(Z, T)=2 \nu_{0} \operatorname{sech}\left(2 \nu_{0}\left(T+2 \mu_{0} Z-\tau_{01}\right)\right) \mathrm{e}^{-\mathrm{i}\left(2 \mu_{0} T+2\left(\mu_{0}^{2}-\nu_{0}^{2}\right) Z+\varphi_{0}\right)} \tag{75}
\end{equation*}
$$

where $\varphi_{0}$ is given by (74). This means that the periodic amplification can cause the periodic variation of phase in the adiabatic solution.

## 6. Correction in the continuous spectrum

In section 5, in order to eliminate the secularities of the first-order approximation, it is required that the adiabatic variation of parameters satisfies (69), (73) and (74). Under these conditions, from the ordinary differential equations (53), (54), (56) and (57) with zero-initial condition, we can obtain

$$
\begin{equation*}
g_{1}(Z)=\widetilde{g}_{1}(Z)=f_{1}(Z)=\widetilde{f}_{1}(Z)=0 . \tag{76}
\end{equation*}
$$

Thus, expression (50) becomes

$$
\begin{equation*}
\mathbf{Q}(Z, T)=\frac{1}{\pi} \int_{-\infty}^{+\infty} \mathrm{d} \lambda\{f(Z, \lambda) \Psi(Z, T, \lambda)+\widetilde{f}(Z, \lambda) \widetilde{\Psi}(Z, T, \lambda)\} \tag{77}
\end{equation*}
$$

where $f(Z, \lambda)$ and $\tilde{f}(Z, \lambda)$ with relations (51) satisfy equations (55) and (58), respectively, namely,

$$
\begin{equation*}
-\left(\mathrm{i} f_{Z}+2 \lambda^{2} f\right)=\frac{\left(\lambda-\bar{\lambda}_{1}\right)^{2}}{\left(\lambda-\lambda_{1}\right)^{2}}\langle\Psi(\lambda) \mid \mathbf{R}\rangle \tag{78}
\end{equation*}
$$

and

$$
\begin{equation*}
\left(\mathrm{i} \tilde{f}_{Z}-2 \lambda^{2} \tilde{f}\right)=\frac{\left(\lambda-\lambda_{1}\right)^{2}}{\left(\lambda-\bar{\lambda}_{1}\right)^{2}}\langle\widetilde{\Psi}(\lambda) \mid \mathbf{R}\rangle \tag{79}
\end{equation*}
$$

In the following, we will solve equations (78) and (79). First, from (63)-(65) and using (69), (73) and (74), we have

$$
\begin{equation*}
R[w]=8 v_{0}^{3}\left(1-\beta^{2}(Z)\right)\left(\operatorname{sech}^{3} \theta-\operatorname{sech} \theta\right) \mathrm{e}^{-\mathrm{i} \varphi} \tag{80}
\end{equation*}
$$

Thus we obtain

$$
\begin{equation*}
\langle\Psi(\lambda) \mid \mathbf{R}\rangle=\int_{-\infty}^{+\infty} \Psi^{A}(Z, T, \lambda) \mathbf{R} \mathrm{d} T=-\frac{\pi}{F}\left(\lambda-\lambda_{1}\right)^{2}\left(1-\beta^{2}(Z)\right) \mathrm{e}^{E} \tag{81}
\end{equation*}
$$

where

$$
\begin{equation*}
E=-\mathrm{i} 2\left(-2 \lambda \mu_{0}+\mu_{0}^{2}+\nu_{0}^{2}\right) Z+\mathrm{i} \varphi_{0}(Z)-\mathrm{i} 2\left(\lambda-\mu_{0}\right) \tau_{01} \tag{82}
\end{equation*}
$$

is dependent of $Z$, and

$$
\begin{equation*}
F=\cosh \pi \frac{\left(\mu_{0}-\lambda\right)}{2 \nu_{0}} \tag{83}
\end{equation*}
$$

Substituting (81) into (78), equation (78) becomes

$$
\begin{equation*}
f_{Z}-\mathrm{i} 2 \lambda^{2} f=-\mathrm{i} \frac{\pi}{F}\left(\lambda-\bar{\lambda}_{1}\right)^{2}\left(1-\beta^{2}(Z)\right) \mathrm{e}^{E} \tag{84}
\end{equation*}
$$

Solving equation (84) by Laplace transformation and taking $\varphi_{0}(Z) \approx \varphi_{01}$ as $Z_{A}$ is small, we obtain the expression for $f(Z, \lambda)$ as follows:

$$
\begin{align*}
f(Z, \lambda)=\Lambda & \sum_{m=0}^{N_{A}-1} \Omega\left(Z_{A}\right) \mathrm{e}^{\mathrm{i} 2 \lambda^{2} Z-\mathrm{i} 2\left(\lambda-\lambda_{1}\right)\left(\lambda-\bar{\lambda}_{1}\right) m Z_{A}} H\left(Z-(m+1) Z_{A}\right) \\
& +\Lambda \sum_{m=0}^{N_{A}-1} \Omega\left(Z-m Z_{A}\right) \mathrm{e}^{\mathrm{i} 2 \lambda^{2} Z-\mathrm{i} 2\left(\lambda-\lambda_{1}\right)\left(\lambda-\bar{\lambda}_{1}\right) m Z_{A}}\left(H\left(Z-m Z_{A}\right)\right. \\
& \left.-H\left(Z-(m+1) Z_{A}\right)\right)+\Lambda \Omega\left(Z-N_{A} Z_{A}\right) \\
& \times \mathrm{e}^{\mathrm{i} 2 \lambda^{2} Z-\mathrm{i} 2\left(\lambda-\lambda_{1}\right)\left(\lambda-\overline{-}_{1}\right) N_{A} Z_{A}} H\left(Z-N_{A} Z_{A}\right) \tag{85}
\end{align*}
$$

where

$$
\begin{align*}
& \Omega(Z)=\frac{1-\mathrm{e}^{-\mathrm{i} 2\left(\lambda-\lambda_{1}\right)\left(\lambda-\bar{\lambda}_{1}\right) Z}}{\mathrm{i} 2\left(\lambda-\lambda_{1}\right)\left(\lambda-\bar{\lambda}_{1}\right)}-\beta^{2}(0) \frac{1-\mathrm{e}^{-\left(\mathrm{i} 2\left(\lambda-\lambda_{1}\right)\left(\lambda-\bar{\lambda}_{1}\right)+\Gamma\right) Z}}{\mathrm{i} 2\left(\lambda-\lambda_{1}\right)\left(\lambda-\bar{\lambda}_{1}\right)+\Gamma}  \tag{86}\\
& \Lambda=-\mathrm{i} \frac{\pi}{F} \mathrm{e}^{-\mathrm{i} 2\left(\lambda-\mu_{0}\right) \tau_{01}+\mathrm{i} \varphi_{01}}\left(\lambda-\bar{\lambda}_{1}\right)^{2} \tag{87}
\end{align*}
$$

and used $f(Z=0, \lambda)=0$.

Finally, from (77), we can present the first-order approximation solution $q(Z, T)=-\frac{1}{\pi} v_{0}^{2} \operatorname{sech}^{2} \theta \mathrm{e}^{-2 \mathrm{i} \varphi} I_{1}-\frac{1}{\pi} I_{2}+\frac{1}{\pi} 2 \mathrm{i} \nu_{0} \tanh \theta I_{3}+\frac{1}{\pi} \nu_{0}^{2} \tanh ^{2} \theta I_{4}$
where

$$
\begin{align*}
& I_{1}=\int_{-\infty}^{+\infty} f(Z, \lambda) \frac{1}{\left(\lambda-\bar{\lambda}_{1}\right)^{2}} \mathrm{e}^{2 \mathrm{i} \lambda T} \mathrm{~d} \lambda  \tag{89}\\
& I_{2}=\int_{-\infty}^{+\infty} \overline{f(Z, \lambda)} \frac{\left(\lambda-\mu_{0}\right)^{2}}{\left(\lambda-\lambda_{1}\right)^{2}} \mathrm{e}^{-2 \mathrm{i} \lambda T} \mathrm{~d} \lambda  \tag{90}\\
& I_{3}=\int_{-\infty}^{+\infty} \overline{f(Z, \lambda)} \frac{\left(\lambda-\mu_{0}\right)}{\left(\lambda-\lambda_{1}\right)^{2}} \mathrm{e}^{-2 \mathrm{i} \lambda T} \mathrm{~d} \lambda  \tag{91}\\
& I_{4}=\int_{-\infty}^{+\infty} \overline{f(Z, \lambda)} \frac{1}{\left(\lambda-\lambda_{1}\right)^{2}} \mathrm{e}^{-2 \mathrm{i} \lambda T} \mathrm{~d} \lambda \tag{92}
\end{align*}
$$

where $f(Z, \lambda)$ is given by (85). Substituting (85) into (89)-(92), we have

$$
\begin{align*}
& I_{1}=-\mathrm{i} \pi \sum_{m=0}^{N_{A}-1} \int_{-\infty}^{+\infty} \frac{1}{F} G\left(Z_{A}, T, \lambda, m\right) \mathrm{e}^{\mathrm{i} 2 \lambda^{2} Z} \mathrm{~d} \lambda \times H\left(Z-(m+1) Z_{A}\right) \\
& \quad-\mathrm{i} \pi \sum_{m=0}^{N_{A}-1} \int_{-\infty}^{+\infty} \frac{1}{F} G\left(Z-m Z_{A}, T, \lambda, m\right) \mathrm{e}^{\mathrm{i} 2 \lambda^{2} Z} \mathrm{~d} \lambda \\
& \times\left(H\left(Z-m Z_{A}\right)-H\left(Z-(m+1) Z_{A}\right)\right) \\
& \quad-\mathrm{i} \pi \int_{-\infty}^{+\infty} \frac{1}{F} G\left(Z-N_{A} Z_{A}, T, \lambda, N_{A}\right) \mathrm{e}^{\mathrm{i} 2 \lambda^{2} Z} \mathrm{~d} \lambda \times H\left(Z-N_{A} Z_{A}\right)  \tag{93}\\
& I_{2} \mathrm{i} \pi \sum_{m=0}^{N_{A}-1} \int_{-\infty}^{+\infty} \frac{\left(\lambda-\mu_{0}\right)^{2}}{F} \overline{G\left(Z_{A}, T, \lambda, m\right)} \mathrm{e}^{-\mathrm{i} 2 \lambda^{2} Z} \mathrm{~d} \lambda \times H\left(Z-(m+1) Z_{A}\right) \\
&+\mathrm{i} \pi \sum_{m=0}^{N_{A}-1} \int_{-\infty}^{+\infty} \frac{\left(\lambda-\mu_{0}\right)^{2}}{F} \overline{G\left(Z-m Z_{A}, T, \lambda, m\right)} \mathrm{e}^{-\mathrm{i} 2 \lambda^{2} Z} \mathrm{~d} \lambda \\
& \times\left(H\left(Z-m Z_{A}\right)-H\left(Z-(m+1) Z_{A}\right)\right) \\
&+\mathrm{i} \pi \int_{-\infty}^{+\infty} \frac{\left(\lambda-\mu_{0}\right)^{2}}{F} \overline{G\left(Z-N_{A} Z_{A}, T, \lambda, N_{A}\right)} \mathrm{e}^{-\mathrm{i} 2 \lambda^{2} Z} \mathrm{~d} \lambda \times H\left(Z-N_{A} Z_{A}\right) \tag{94}
\end{align*}
$$

$$
I_{3}=\mathrm{i} \pi \sum_{m=0}^{N_{A}-1} \int_{-\infty}^{+\infty} \frac{\left(\lambda-\mu_{0}\right)}{F} \overline{G\left(Z_{A}, T, \lambda, m\right)} \mathrm{e}^{-\mathrm{i} 2 \lambda^{2} Z} \mathrm{~d} \lambda \times H\left(Z-(m+1) Z_{A}\right)
$$

$$
+\mathrm{i} \pi \sum_{m=0}^{N_{A}-1} \int_{-\infty}^{+\infty} \frac{\left(\lambda-\mu_{0}\right)}{F} \overline{G\left(Z-m Z_{A}, T, \lambda, m\right)} \mathrm{e}^{-\mathrm{i} 2 \lambda^{2} Z} \mathrm{~d} \lambda
$$

$$
\times\left(H\left(Z-m Z_{A}\right)-H\left(Z-(m+1) Z_{A}\right)\right)
$$

$$
\begin{equation*}
+\mathrm{i} \pi \int_{-\infty}^{+\infty} \frac{\left(\lambda-\mu_{0}\right)}{F} \overline{G\left(Z-N_{A} Z_{A}, T, \lambda, N_{A}\right)} \mathrm{e}^{-\mathrm{i} 2 \lambda^{2} Z} \mathrm{~d} \lambda \times H\left(Z-N_{A} Z_{A}\right) \tag{95}
\end{equation*}
$$



Figure 1. The behaviour of the amplitude $|u(Z, T)|$ of the approximation solution with the parameters: loss rate $\gamma=0.028 \mathrm{~km}^{-1}$, dispersion distance $z_{0}=404.93 \mathrm{~km}$ and $\Gamma=11.183$, $\mathrm{Z}_{A}=0.125 . v_{0}=2, \mu_{0}=\tau_{01}=\varphi_{01}=0$.
and

$$
\begin{equation*}
I_{4}=\overline{I_{1}} \tag{96}
\end{equation*}
$$

where

$$
\begin{equation*}
G(Z, T, \lambda, m)=\frac{\operatorname{expi} \Theta-\operatorname{expi} \Phi}{\mathrm{i} 2\left(\lambda-\lambda_{1}\right)\left(\lambda-\bar{\lambda}_{1}\right)}-\beta^{2}(0) \frac{\operatorname{expi} \Theta-\mathrm{e}^{-\Gamma Z} \operatorname{expi} \Phi}{\mathrm{i} 2\left(\lambda-\lambda_{1}\right)\left(\lambda-\bar{\lambda}_{1}\right)+\Gamma} \tag{97}
\end{equation*}
$$

and

$$
\begin{align*}
& \Theta(T, \lambda, m)=2 \lambda T-2\left(\lambda-\lambda_{1}\right)\left(\lambda-\bar{\lambda}_{1}\right) m Z_{A}-2\left(\lambda-\mu_{0}\right) \tau_{01}+\varphi_{01}  \tag{98}\\
& \Phi(Z, T, \lambda, m)=-2\left(\lambda-\lambda_{1}\right)\left(\lambda-\bar{\lambda}_{1}\right) Z+\Theta(T, \lambda, m) \tag{99}
\end{align*}
$$

and $F$ is given by (83).

## 7. Conclusions

In conclusion, by means of the direct method, we have presented the explicit expressions of the approximation solution of the periodic amplification of a soliton in an optical fibre link with loss. The approximation solution consists of two portions. One portion is the adiabatic solution (75) which is a slowly varying portion in the transmission of the light wave and another portion is the first-order correction term (88) which is a small and rapidly varying portion.

In order to observe the behaviour of the approximation solution directly, we present one typical example for the case of non-resonance [14] according to formulae (3), (75) and (88). Parameters adopted here are: loss rate $\gamma=0.028 \mathrm{~km}^{-1}$, dispersion distance $z_{0}=404.93 \mathrm{~km}$, $\Gamma=11.183, Z_{A}=0.125, \nu_{0}=2$ and $\mu_{0}=\tau_{01}=\varphi_{01}=0$. The results are shown in figures 1 and 2. Figure 1 is the behaviour of the amplitude $|u(Z, T)|$ of the approximation solution for equation (1), which shows that its propagation is periodically stable except for the small tail oscillation resulting from the noise of the amplifier, although we have the distance of transmission 1000 km . The intensity of this tail oscillation can be clearly seen from figure 2


Figure 2. The behaviour of the intensity $|q(Z, T)|^{2}$ of the correction term, the parameters are the same as in figure 1.
which is the behaviour of the intensity $|q(Z, T)|^{2}$ of the correction term which shows that the correction term is a small rapidly varying quantity. For the effect of resonance, it has been discussed by using the Lie transformation and averaging method in [14].

Furthermore, the present direct method can be used to investigate the system of dispersion management with periodically varying dispersion [20] and other fields.

## Acknowledgments

The authors wish to thank Professor Nianning Huang for his valuable suggestions and helpful discussions. This research was supported by the National Natural Science Foundation of China, grant 10074041 , and the Provincial Natural Science Foundation of Shanxi, grant 20001003.

## References

[1] Kivshar Y S and Malomed B A 1989 Rev. Mod. Phys. 61763
[2] Kaup D J 1976 SIAM J. Appl. Math. 31121
[3] Kaup D J and Newell A C 1978 Proc. R. Soc. A 361413
[4] Huang N N 1996 Theory of Soliton and Method of Perturbation (Shanghai: Shanghai Scientific and Technological Education Publishing House)
[5] Keener J P and McLaughlin D W 1977 Phys. Rev. A 16777
[6] Keener J P and McLaughlin D W 1977 J. Math. Phys. 182008
[7] Herman R L 1990 J. Phys. A: Math. Gen. 232327
[8] Kaup D J 1990 Phys. Rev. A 425689
[9] Chen S R, Chen Z D, Yuan X Z and Huang N N 1999 Acta Phys. Sin. 18590 (Overseas edition)
[10] Chen X J, Chen Z D and Huang N N 1998 J. Phys. A: Math. Gen. 316929
[11] Huang N N, Chi S E, Lou B L and Chen X J 2000 J. Math. Phys. 412931
[12] Chen X J and Yang J K 2002 Phys. Rev. E 65066608
[13] Yan J R and Tang Y 1996 Phys. Rev. E 546816
[14] Hasegawa A and Kodama Y 1991 Phys. Rev. Lett. 66161
[15] Hasegawa A and Kodama Y 1991 Opt. Lett. 161385
[16] Hasegawa A and Kodama Y 1990 Opt. Lett. 151443
[17] Gordon J P 1992 J. Opt. Soc. Am. B 991
[18] Kumar S, Hasegawa A and Kodama Y 1997 J. Opt. Soc. Am. B 14888
[19] Hasegawa A and Kodama Y 1995 Soliton in Optical Communications (Oxford: Oxford University Press)
[20] Hasegawa A, Kodama Y and Maruta A 1997 Opt. Fiber Technol., Mater. Devices Syst. 3197

